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nesr= £[€_, a_] 1= —

1 [Sin[at] )2
ntt

a
inj49)= £[10, 10]
Sin[100]?2

Out[49]=

1000 7t

ns1= N[3 %7/ 10]
outs1= 0.942478

nso- Plot[{£[2, a], £[3, @], £[4, a]}, {a, -3, 3}, PlotRange » All]

out[59]=
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-3 -2 -1 F 1 2 3

no4)- NIntegrate[£[1000, a], {a, -Infinity, Infinity}]

out94)= 1.

nso)- NIntegrate[£f[1, a] *Cos[a], {a, -Infinity, Infinity}]

outigo}= 0.5

ng1= NIntegrate[£[10, a] *Cos[a], {a, -Infinity, Infinity}]
outig1= 0.95

ne2= NIntegrate[£f[2 * 104, a] *Cos[a], {a, -Infinity, Infinity}]
outg2)= 0.999975



